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Recursion provides no saving in storage.
a. True b. False

€. Depends on the function definition d. None

struct student

{int roll;

char name[20];

1S, std[100];

prif(“%d”, sizeof(struct S);

Output is
a. 100 b. 22
¢. ERROR d. 2

The function used to allocate memory in multiple blocks of same size during program
execution is

a. sizeof() b. calloc()

c. malloc() d. realloc()

Any executable program can be included as a header file in a new program.
a. True b. False

¢. Depends on the compiler d. Depends on the standard
Any unchanged value in a program during execution is called__

a. Key word b. Constant

c. Variable d. aand b

____bytes are occupied in RAM for unsigned long integers.

B2 b=l

(5 4 d. 4

sin (wt?) cos ((3x)/3) in C-expression is writtenas____ .

a. pow(sin(w*t), 3) * cos(3*x)/3 b. sin(w*pow(t,3})*cos((3*x)/3)
c. sin(pow((w*t), 3)) * cos((3*x)/3) d. sin w*pow(1,3) * cos(3*x}/3
The format to print a horizontal spaceis__ .

a. printf(“\n") b. printf(“/n”)

¢. printf(“\t”) d. printf(“/t”)

Number of values returned by a function ata timeis______

ar |yl 2

c 3 d. Any number of values

Which variable has the longest scope in the following C code?
#include<stdio.h>
int b;
void main( )
{ intc
return 0; )
mta;
a. a b. b
(35 (e d. Bothaand b
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